
HRADIŠTĚ C, DÚ14b, 07.12.2018, 

Taktika obtížnější 

 

 

1.příklad     Černý na tahu (pš 1/191) 
XABCDEFGHY 
8r+-+kvl-tr( 
7zplwqn+pzp-' 
6-zp-+-sn-zp& 
5+-zp-zp-+-% 
4-+-+P+-vL$ 
3+QzP-+-+-# 
2PzP-sNLzPPzP" 
1tR-+-mK-sNR! 
xabcdefghy 

Může černý sebrat na e4? 

 

 

 

 

 

 

 

3.příklad     Bílý na tahu (pš x092) 
XABCDEFGHY 
8r+-+-+-tr( 
7+-+-sn-sN-' 
6p+-vl-zp-+& 
5+pzp-mk-zp-% 
4-+p+P+-zp$ 
3+-zP-vLP+P# 
2PzP-+-zPK+" 
1+-+R+-tR-! 
xabcdefghy 

? 
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2.příklad     Bílý na tahu (pš 4/9) 
XABCDEFGHY 
8-+-+r+-mk( 
7zpp+-+-zpp' 
6-+qsn-+-+& 
5+-+-wQp+-% 
4-+-+-+-+$ 
3+-zPL+PzP-# 
2P+P+-+KzP" 
1+-+-tR-+-! 
xabcdefghy 

? 

 

 

 

 

 

 

 

4.příklad     Černý na tahu (pš 2/9) 
XABCDEFGHY 
8-+-tr-+k+( 
7+q+-+pzpp' 
6p+l+-sn-+& 
5+-+-+-+-% 
4-zP-+-+-+$ 
3zPQ+-+P+L# 
2-+-+-+PzP" 
1tR-vL-+-+K! 
xabcdefghy 

? 

 

 

 


